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10.2 Warm Up

[image: image16.png]4P @




[image: image17.wmf]
1.
Find the midpoint of each line segment.

	a)
[image: image18.wmf]
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2.
Draw a perpendicular bisector of each line segment. 

	a)
[image: image21.wmf]

	b)
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Find the height of the isosceles triangle.

XW = 
[image: image1] cm



a2 + b2 = c2


XW2 + WY2 = XY2
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 + WY2 = 52



[image: image3] + WY2 = 
[image: image4]

[image: image5] – 
[image: image6] + WY2 = 
[image: image7] – 
[image: image8]


WY2 = 
[image: image9]


WY = 
[image: image10.wmf]


WY = 
[image: image11]
The height of the triangle is 
[image: image12] cm.


4.
Calculate the length of the line segment using the midpoints.
	a)


If AC = 10 cm, then AB = 
[image: image13] cm.


	b)


If AB = 9 cm, then AE = 
[image: image14] cm.























Find the midpoint and draw a perpendicular line.


































































































Midpoint means middle or halfway.
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